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2024 Fall Math 140 Week-In-Review
Week 5: Sections 3.1 - 3.3
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Some Key Words and Terms: Variables, Objective Function, Constraints, Graphing a Linear Inequality,
True/False Shading, Solution Set, Bounded /Unbounded, Corner Points, Solution to a Linear Program-
ming Problem, Leftovers
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Examples:
1. Setup the following linear programming problem. Do not solve.

A company makes and sells two types of mini-fridges designed especially for dorm rooms: Space-
Savers and Deep-Chills. In order to make the mini-fridges, the company requires coolant, metal,
and plastic. Each Space-Saver requires 2 units of coolant, 3 units of metal, and 3 units of plastic.
Each Deep-Chill requires 4 units of coolant, 5 units of metal, and 4 units of plastic. After receiving
shipments of materials this week, the company has 270 units of coolant, 355 units of metal, and 314
units of plastic. If the company sells each Space-Saver for $50 and each Deep-Chill for 85, how
many of each mini-fridge should the company make and sell in order to maximize their revenue
for this week?
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4. Use the Method of Corners to determine the solution, if it exists, for the following linear program-
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5. Use the Method of Corners to determine the solution, if it exists, for the following linear program-

ming problem. . . v - L-‘ 2 _ -
, . _Li_"ii—- Yy g,} 20 At X QL} S
Maximize: Z = FRAY X=0 — 6‘.1: 20 xX=0 — _1\?: S
Subject to: 4z + 5y > 20 (/C)L'*) \'8/’ < CO)’S//z‘) 4= "37;
=2y <5 L{x =20
-0 — = — =
Oex y x&F (5. (s,
s ot e yeot (6,0 Yant (6,0 %
—’—~LN’6“ LL/_M'_. 1 _—_‘—‘[TO-\’ +s(0)z 20 _—
< =O %= ol (-2 S
’rruhb

)(’//’{/

L% X//O .
l/\*)(gJ\ % é [6

ND O NN
M’/f’b/; K
x= 2 S

=

fo maximizl

lornarr pornts

. For the gituation given in Fxample 1, the corner points of the feasible region arg (0,0), (0, 68),
i, 36 0}. | Determine the solution and any leftovers, Be sure to express vour

ﬂ[lh‘\\-‘(!['ﬁ‘ in the !:l;]][.(!xl of the sitnation. C _ <5
Matmize  R= B0x + 854 T Tao

(6,69) | R= S #30

[Tao.u3)| R= 6030 )

Week 4 - 3.1t0 3.3 Page 7



Meximize K= 0OO0x ¥ 394 oo o T
(6,69) | R=5%30
l (l{o'uii R= 6030 ’

(60,%) | R= GOGO

( coolant) 2 +'—h.y 4 2730 (3,0) | A= 5400
CN—*'*L) 2% + g% £ 35—5’
(Jastic) B+ Yo < 2\4

n ¥ have

X rz0,47Z0 (vle <=
(UVQ— $M

er Ry A neges \J“\U’B

e o Bor the ek o masimized @ B6,00

whea 40 ﬁPacc'Savc(S ét 4y Dee?z OIC\MS o made
onde soldh

( Fovers

2(40)+ 4(4%) £ RFO

howlda ¥ hapeen, T
232 ¢ 270 (5 o wup‘fﬂr.)

oHume 2x + "\\-ﬁ, £ RIR
S5 )
=~ ~— EX A~ Q“' mh ’A
S 232 = 3#2=0

3 (4o )+ 2“31533:% a‘}oil\,j; st eove & ""3?0
o=

— =/43 ,QOJC‘FW wants

2(40)+ 4(48) & 314
212 314 — 34-327 2 lethver
8 wats ot

9’\9.8'\'»‘(.

Week 4 - 3.1 to 3.3 Page 8



